
 

ARIES OFFROAD 
1042 GRAND CHEROKEE 

1995-1998 4WD 
INSTALLATION INSTRUCTIONS 

 
PARTS LIST 
1 – Aries Front Bar 
1 – Mounting Bracket – Driver Side 
1 – Mounting Bracket – Passenger Side 
6 –   3/8’’ x 1 1/4’’ Hex Bolts 
12 – 3/8’’ USS Flat Washers 
6 –   3/8’’ Nylon Lock Nuts 
 
INSTALLING THE MOUNTING BRACKETS 
 
Remove factory tow hooks from front section of vehicle (located within front bumper area). 
Using the bolts that held the tow hooks in place (there should be two of these bolts per hook).  Attach 
the mounting brackets as per diagram below , do not fasten these bolts too tightly as you may have to 
move the brackets around slightly to align the grill guard to your vehicles front bumper – see next step 
installing the grill guard. 
 
 
INSTALLING THE FRONT BAR 
 
Line up the three holes on the lower portion of the front bar with the three holes in the mounting 
brackets (outer edge).  Use the 3/8’’ hex bolts and the 3/8’’ lock nuts to fasten guard to the mounting 
brackets.  Once the guard is attached to the brackets align guard to the bumper.  Ounce you are 
satisfied that the grill guard is aligned.  
Begin to tighten all fasteners. 
 
DIAGRAM.  DRIVERS SIDE SHOWN  

 
 


